

Law Office of Benjamin Garcia, PLLC

INVOICE

1614 Avenue M
Lubbock, Texas 79401

Invoice # 701
Date: 12/22/2025
Due On: 01/06/2026

Jason Corley

00879-Corley

Quo warranto and dec action

| Type | Date | Notes | Quantity | Rate | Total |
|---------|------------|--|----------|----------|------------|
| Service | 12/08/2025 | Draft: Conduct legal research and draft and e-file original petition. | 5.00 | \$325.00 | \$1,625.00 |
| Service | 12/08/2025 | File: Prepare request for issuance of citation. E-file with clerk. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/08/2025 | Phone call: Phone conference (#1) w/ potential co-counsel/election law expert. | 0.50 | \$325.00 | \$162.50 |
| Service | 12/08/2025 | Phone call: Phone conference (#2) w/ potential co-counsel/election law expert. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/08/2025 | Meeting: Meeting (#1) with client. | 1.50 | \$325.00 | \$487.50 |
| Service | 12/08/2025 | Meeting: Meeting (#2) with client. | 0.50 | \$325.00 | \$162.50 |
| Expense | 12/09/2025 | Reimbursable expenses: Fee for service of process paid to the Windsor Agency. | 1.00 | \$150.00 | \$150.00 |
| Service | 12/09/2025 | Draft: Begin drafting brief re resign to run rule. | 1.50 | \$325.00 | \$487.50 |
| Expense | 12/09/2025 | Filing Fees: Fee for issuance of citation paid to LCDC. | 1.00 | \$9.00 | \$9.00 |
| Service | 12/10/2025 | Draft: Conduct legal research and continue drafting brief re resign to run rule. | 3.25 | \$325.00 | \$1,056.25 |
| Service | 12/10/2025 | Correspondence: Email to Court providing pleadings and requesting for ex parte consideration of attached TRO. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/10/2025 | Correspondence: Receive/review email from Court denying ex parte TRO, but agreeing to hear case on 12/19 at 10 am. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/11/2025 | Draft: Continue conducting legal research and continue drafting brief re resign to run rule. | 5.00 | \$325.00 | \$1,625.00 |
| Service | 12/11/2025 | Draft: Continue legal research and complete brief re resign to run rule. Send to court and Meurer. | 2.50 | \$325.00 | \$812.50 |

| | | | | | |
|---------|------------|--|------|----------|------------|
| Service | 12/11/2025 | Draft: Compile legal authorities in a single PDF. Send to court and Meurer. | 0.50 | \$325.00 | \$162.50 |
| Service | 12/11/2025 | Draft: Prepare witness subpoena duces tecum. | 0.50 | \$325.00 | \$162.50 |
| Expense | 12/11/2025 | Process Server: Service fee for service of subpoena duces tecum served on Judge Curtis Parrish paid to the Windsor Agency. | 1.00 | \$150.00 | \$150.00 |
| Service | 12/11/2025 | Correspondence: Email to Court providing copy of brief re resign to run rule, copy to Defendant. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/14/2025 | Correspondence: Email evidence to Scott Brumley. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/15/2025 | Phone call: Phone conference w/ Scott Brumley re [REDACTED] | 0.25 | \$325.00 | \$81.25 |
| Service | 12/15/2025 | Phone call: Phone conference w/ client [REDACTED] | 0.25 | \$325.00 | \$81.25 |
| Service | 12/15/2025 | Draft: Draft amended petition, correcting typo and adding request for interim relief. | 0.50 | \$325.00 | \$162.50 |
| Service | 12/15/2025 | Draft: Draft osh on request for interim relief. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/15/2025 | Draft: Conduct legal research [REDACTED] | 1.50 | \$325.00 | \$487.50 |
| Service | 12/15/2025 | Correspondence: Email to Court providing a copy of the amended petition and proposed osh for interim relief. Copy to M. Meurer. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/16/2025 | Correspondence: Receive/review email from OC. Briefly review plea to JX and respond to her email. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/16/2025 | Correspondence: Receive/review email from Court re signed OSH on Plea to JX. OC wasn't copied so forward to OC. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/18/2025 | Prepare for hearing/court: Prepare for TI hearing. | 1.25 | \$325.00 | \$406.25 |
| Service | 12/18/2025 | Draft: Draft proposed TI. | 1.00 | \$325.00 | \$325.00 |
| Service | 12/18/2025 | Phone call: Phone conference w/ Scott Brumley re [REDACTED] | 0.25 | \$325.00 | \$81.25 |
| Service | 12/18/2025 | Correspondence: Exchange emails w/ OC re plea to JX in light of intervention and leave to file information. OC will still pursue ruling on plea to JX. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/19/2025 | Prepare for hearing/court: Prepare for TI hearing. | 1.00 | \$325.00 | \$325.00 |
| Service | 12/19/2025 | Court time: Attend/conduct TI hearing. | 4.00 | \$325.00 | \$1,300.00 |

| | | | | | |
|---------|------------|--|------|--------------|--------------------|
| Service | 12/19/2025 | Legal research: Conduct legal research re [REDACTED] | 1.00 | \$325.00 | \$325.00 |
| Service | 12/20/2025 | Correspondence: Exchange texts w/ potential co-counsel/election law expert re [REDACTED] | 0.25 | \$325.00 | \$81.25 |
| Service | 12/21/2025 | Review: Review several times whether COA has entered order re stay. Nothing yet. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/22/2025 | Review: Review several times whether COA has entered order re stay. Nothing yet. Exchange texts w/ OC and advise client [REDACTED] | 0.25 | \$325.00 | \$81.25 |
| Service | 12/22/2025 | Phone call: Phone conference w/ Neal Burt re various issues in case/status of resumption of client's ability to re-occupy office. | 0.25 | \$325.00 | \$81.25 |
| Service | 12/22/2025 | Meeting: Meeting with client re re-[REDACTED] | 0.75 | \$325.00 | \$243.75 |
| | | | | Total | \$12,090.25 |

Detailed Statement of Account

Current Invoice

| Invoice Number | Due On | Amount Due | Payments Received | Balance Due |
|----------------|------------|-------------|---------------------------------|--------------------|
| 701 | 01/06/2026 | \$12,090.25 | \$0.00 | \$12,090.25 |
| | | | Outstanding Balance | \$12,090.25 |
| | | | Total Amount Outstanding | \$12,090.25 |

Please make all amounts payable to: Law Office of Benjamin Garcia, PLLC

Please pay within 15 days.

Law Office of Benjamin Garcia, PLLC

INVOICE

1614 Avenue M
Lubbock, Texas 79401

Invoice # 701
Date: 12/22/2025
Due On: 01/06/2026



Pay your invoice online

To pay your invoice, open the camera on your mobile device and place the QR code in the camera's view.

Or, [click here](#) if you're viewing on a computer or smartphone.